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QUESTION 1

According to NetApp best practices, which two sets of protocols would be assigned to the same storage virtual machine
(SVM)? (Choose two.)

A. FCP, NFS

B. CIFS, iSCSI

C. NFS. CIFS

D. FCP, iSCSI
Correct Answer: C

Explanation: For Storage Virtual Machines (SVMs) that are accessible from multiple protocols, such as CIFS and NFS,
you can use DNS load balancing and automatic LIF rebalancing simultaneously.

Reference: Clustered Data ONTAP 8.3, Network Management Guide, page 96

QUESTION 2

Which three types of interface groups are supported on NetApp storage systems? (Choose three.)
A. single mode

B. HA interconnect

C. IPspaces

D. static multimode

E. dynamic multimode

Correct Answer: ADE

Explanation: You can create three different types of interface groups on your storage system: single-mode, static
multimode, and dynamic multimode interface groups.

Reference: Types of interface groups

https://library.netapp.com/ecmdocs/ECMP1196907/html/GUID-EFA72201-E035-41E2-AC53CD81A472B5ED.html

QUESTION 3
What is a protocol?
A. SnapRestore

B. CIFS
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C. SnapMirror/SnapVault

D. FlexClone

Correct Answer: B

Explanation: The Common Internet File System (CIFS) is protocol which is the standard way that computer
users share files across corporate intranets and the Internet.

Incorrect:

Not D: FlexClone is a technology to make fast, space-efficient copies of flexible volumes (FlexVol volumes)
and LUNs.

Reference: Common Internet File System - TechNet

https://technet.microsoft.com/en-us/library/cc939973.aspx

QUESTION 4

What are two supported cluster interconnect switches for the FAS8040 nodes? (Choose two.)
A. Cisco Catalyst 2960

B. Cisco NX5596

C. NetApp CN1610

D. NetApp CN1601

Correct Answer: BC

Explanation: Cisco NX5596 is a cluster interconnect switch. NetApp CN1610 is a cluster interconnect switch that can be
used for FAS8040 nodes.

Incorrect:
Not A: The Cisco Catalyst 2960 is not a cluster interconnect switch. Not D: NetApp CN1601 is a cluster
management switch.

Reference: Clustered Data ONTAP 8.3, Express Setup Guide for 80xx Systems

QUESTION 5

You want to install a new clustered Data ONTAP 8.3 system. The customer wants to use open ports on interconnect
switches from a different system with clustered Data ONTAP 8.2 because they are running out of space in their rack.

What should be considered in this scenario?

A. Only one cluster per switch pair is qualified and supported.
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B. You can use all free network ports for the cluster interconnect.
C. You can only use dedicated ports for the clustered interconnect.

D. A maximum of two clusters per switch pair are qualified and supported, but you should use trunked ports.

Correct Answer: C
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